g/m°N 0.08 0.01
HC ppm 430 1 50
NOx ppm 250 80
SOx ppm — 50
sox K — 175 —
pg/mN 50 50
1 700 mg/m°N  ppm
2.
1
HC NOx SOx sox K
30 7 2 30 7 23 0.001 16 54 6 0.03 08
31 2 1 31 2 7 0.001 14 61 6 0.03 0.36
[9/m*N] [ppm] [ppm] [ppm] [g/m°N]
2
HC NOx SOx sox K
30 6 25 30 7 23 0.001 10 58 7 0.03 14
30 12 3 30 12 20 0.001 18 49 5 0.02 0.15
[9/m*N] [ppm] [ppm] [ppm] [g/m°N]
3
HC NOx SOx sox K
30 6 25 30 7 23 0.001 12 61 6 0.03 13
30 12 3 30 12 20 0.001 18 46 5 0.03 0.63
[9/m*N] [ppm] [ppm] [ppm] [g/m°N]




